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1. Trlef g F53 % & 5 2 4 # 2?2 Which of the following business types
does not have a legal entity?

I. A &% sole proprietorship

. &% &% partnership

. 3 XF E&$ £ % limited liability partnership

IV. # %3 2= & private limited company

(A) 1,1

(B) 1,1

(C) I, 1V

(D) I, IV

2, ARG ARS OPLES T R ﬂ’) Why are banks able to offer
higher interest rates to customers with fixed deposits?

(A) & ™ %4028 % High minimum deposit requirement

(B) 5 #c%p » H 2_Variable deposit amounts

(C) % #+ 4 #§ i{ Convenient deposit procedures

(D) % #c¥ 2 = " & Fixed and long-term deposit periods

3. KA d ¥ Rehed 3 32T A - B K 72 Which of the following
country is not included in the ASEAN Free Trade Area?

(A) 5 k& &y Malaysia

(B) %.i;? Philippines

(C) % & Thailand

(D) r,%? Taiwan

4. TR A R F O R EF O A B AT i 22 Which of the following
indicators can help investors assess the soundness of a company's capital
structure?

(A) Jw#st & Current ratio

(B) & #+t & Quick ratio

(C) § %% & Debttoequity ratio

(D) # & kA~ Return on equity

5, A A5 RM30004F » #4]F 5 10% > 533 & o & & 1048 I3+ 5 »
3&EfS ¥ BEBw 3047 Mr. Wang plans to invest RM3,000 with an annual
interest rate of 10% for a duration of 3 years. How much will he get back after 3
years, at compound interest every year?
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(A) 3,300
(B) 3,900
(C) 3,993
(D) 9,933

6. T F|R— IF A &%%‘%’j&@ﬁﬁl" ;- e 2 ? Which of the following is not a
factor influencing the choice of transportation mode?

(A) 7 &1+ % Nature of the goods

(B) # ¥+ |- Market size

(C) k4 % & Value of the goods

(D) #e#riif Distance

7. T Flie g A E R e ? Which of the following is a characteristic of a
wholesaler’>

(A) 4 ) '}%i Primary customers are consumers

(B) é 7 ?5 s :$  Responsible for manufacturing goods

(C) F#mkp ® & Sources products from retailers

(D) #>:% 4 &4 ¢ Plays a distribution role

8. THWREIET UERELA- EP) G K £ #0R @ 71?7 Which of
the following indicators can reflect that a company has sufficient funds to repay
short-term debt within a year?

l. & § =~ 413 Gross Profit ratio

. 3 "%}r,ﬂb break-even point

[ 7wét 5 current ratio

IV. :# # 2 quick ratio/ acid test ratio

(A) 1,11
B) 1,11
©) I, 1V
(D) I, IV

9. T AvR- 3 EH F Lk E? Which of the following characteristic is for
future trading?

(A) PP FWE TR % Trading can be conducted anytime, anywhere

(B) 7 & * ¥+ 0= 38 fg 5 The contract cannot be fulfilled through hedging

(C) - £2&- + | Paymentand delivery occur simultaneously

(D) § % # | £ % Buying and selling futures contracts
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1I00A2P ZRTMB 7 5 Pavi L 4 5 B 2@ i o @2 How much
of Company B’s share does Company A need to acquire to become the holding
company of Company B?

(A) 45%

(B) 50%

(C) 65%

(D) 70%

L@ PR ZEENG fBEE GO 8 OF g e
T AURIE T PRIRE S E J o @i * ? The transportation company wishes to
have control over the routes of all its trucks for scheduling the transportation of
goods. Which of the following telecommunication service is suitable for the
transportation company to use?

(A) 43 ¢ 3% Video conferencing

(B) = = PR3z Internet service

(C) “&mPR3% Short message service(SMS)

(D) 2zk =z iz ,% % Global positioning system (GPS)

12w wRis 7 5 2 % 5 d vg = % % % = ? Which of the following trade documents
are typically issued by the seller to the buyer?

I. 37H Purchase order

Il. 237 5 Letter of inquiry

. f & &3 Advice note

IV. % Z Invoice

(A) 1, 1

(B) 1, 1l

€) 1, IV

D) I, IV

13. 3 A5 A A sS4 &P LpEpF > Bz B 7 £ 2 When a product

is in the growth stage of its product life cycle, it belongs to which type of
advertising?

(A) #pZ+ A £ Reminder advertising

(B) #PRIEAR £ Persuasive advertising

(C) 2 & A £ Informative advertising

(D) “4c3 R £ Reinforcement advertising
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14 ppdeet 3 6 # (5 & pEE % & RM300,000 = &+ - 4 % 7 5% RM30,000 £
FHFoARTARAS FETPRF10% > UAFJFE c FREM)ERES
2% S & kP F? Miss Chen plans to purchase a house worth RM300,000 in 6
years. To save for this, she intends to invest in Product A with an annual return
rate of 10%, compounded annually. How much does Miss Chen need to invest
right now?
(A) RM16,934
(B) RM27,272
(C) RM28,261
(D) RM50,000

15. itir”ﬁ SPHER- A5 HE B85 8000 B AN BEZEH S RMS
Ptz ¥ RMA40,000 o B3k B 7 & 5 RM30,000 » T 3oH =864 A%
RM3; R = @48 £ T 74" & € 5 »? Weihong Company sells a certain product
with a sales volume of 8,000 units. The product's unit price is RM5, resulting in
total revenue of RM40,000. Assuming fixed costs are RM30,000 and average unit
variable costs are RM3, what is the breakeven sales volume for the company?
(A) 10,000 i# A & 10,000 units
(B) 15,000 i# A & 15,000 units
(C) 20,000 i# A & 20,000 units
(D) 80,000 i# # & 80,000 units

16. b7 2 PR EIF G A ndg TP F G IR R What rights do warrant
holders of a listed company have within the specified period?
L 355 2xdpsp e £ 2 5 r g sk EsE Sell the warrants on the stock
exchange during the valid period
Il #iuxfEsEie 5 1{ i % Convert the warrants into ordinary shares
M. E2= ,u;é e41] & Earn interest distributed by the company

IV. %% &+ ¢ Participate in shareholder meetings
(A) 1,1
(B) I, 1V
(C) 1, 1l
(D) 11, IV

IV Y A A R N e el R
A trader purchases a batch of daily necessities from a wholesale company. Which
of the following sequences of trade documents is true?

(A) AR E—>3FY H—>37H >3 £~z Letter of inquiry—Quotation—
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Purchase Order— Invoice—Receipt

(B) ¥ H—>3"H—>" 2 H K L% L Quotation—Purchase Order—
Statement of account— Letter of inquiry— Invoice

(C) w7 p E—>3cF ¥ >4 L 47§ ¥~z Purchase Order—Consignment note
— Invoice—Quotation— Receipt

(D) & H—>% & P >3 L —>cyp—3 § E Consignment note—Catalogue—
Invoice—Receipt—Quotation

18. % J EHRLEBEER AP L o RRFTRPINET © B R Lo
= ;42 Miss Li wants to utilize the concept of the time value of money to allow
her investment returns to generate additional profits. What type of method is this?
(A) H 41 Simple interest
(B) 4# 41 Compound interest
(C) =41 Net profit
(D) =+ 4135 Gross profit margin

19 PREW R EH A~ 42 /2pF ¢ 4 gvnet 5122 What factors does a clothing
manufacturer consider when choosing distribution channels?

l. % PR The nature of the clothing

. & ¥ %k The resources of the clothing manufacturer

. 2 pRensd & 3 3 The market for the clothing

IV. 3 % # #d~ js & Consumer shopping attitudes

(A) |,||,|||
(B) I, 111, IV
©) LIV
D) 1,11, 1V

20. FH EES VMRS FH AP T AP ﬁ 7 &>t 7 48 4P? The marketing mix is
often referred to as the 4Ps of marketing. Which of the following does not belong
to the 4Ps of marketing?

(A) i gt Place

(B) % f;a Price

(C) 4R Promotion

(D) #2.5% Process

2L 3 F H 0k ek X v 4 L 4p? Which of the following statements about an
investor's risk tolerance level is correct?
(A) EFI425 Profitability level
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(B) i #Fh *& s 4 Ability to avoid the risk
(C) A~ 4Th & <hwc 4 Ability to diversify risk
(D) B & R¥EHF R & 42 & Willingness to bear the investment risk

22. ® 7|vR— I E_ R 6 @ ARIE B 02 38?2 Which of the following is a way for
the government to implement a surplus budget?

(A) fic? %3+« B £ Keeping tax revenue unchanged and increasing expenditure

(B) #& & + & «j" % i 4 Enhancing people's purchasing power

(C) 4 W 7> A% B34 Increasing large-scale national development projects

(D) # 4 fic i A #7t8 f22 2 2 fi Increasing the collection of personal income
tax and corporate tax

23. 7 FwR- Rl e e (72 R R % fe A 5% & B ? Which following
restrictive measure is not related to protecting domestic infant industries?

(A) 4 BE Subsidies

(B) 3L 42 Protective tariff

(C) :&r *TZE Import quotas

(D) # ¢ :&v 42 Exemptimport duties

24, SEAG UG v inde o PR EESe 5 vR— 3E §n# o] BE 4 #? Which of the following is
a characteristic of mobile vendors?

(A) #& &=ptt~ i 1 Providing shopping convenience

(B) ¥ &fasgg ¥ Offering a wide variety of products

(C) ~ E 4 P7 & Purchasing goods in large quantities

(D) &% = ~#3 Incurring higher operating costs

25. 7 LA FERAD RIS A F o NARBEEFRE TAIRPE L EF
& ‘%‘ &£ &% «7? If small and medium-sized enterprises (SMEs) want to survive
in a free competitive market and expand their business scale, what elements
should business operators possess?

(A) & %744 -~ £ 25 F Entrepreneurship, enterprise vision

(B) #1372~ 72 & ¥ Innovative thinking, family business

(C) #HA4Ih &ae 4 ~ fzﬁ‘fﬁ%fﬁé Risk management capability, government incentives

(D) & & a4 ~ &% =5 Sales capability, business organization

26. 11T WRIE ATt & R 2 & F 14 5 BE? Which of the following statements is related
to regional specialization?
(A)A R =25 % B K 37 5 %<4 Country A set up many hotels in the tourist area
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(B)C = & efhw ¥5%83% p° The core business of a C company is delivery
(C) k-1 4 § 7 3=tk 1 ¥ Miss Lin is responsible for accounting work
(D)B Wi & & % Country B primarily exports oil

27. r TR SRR ORISR 0 B £ EARY R #? Which of the following taxes
are initially paid by businesses but ultimately passed on to consumers?

I. B f Customs duty

Il. 7} % 4& Goods and services tax

I1l. = # & Corporate tax

IV. i % #ri¥ . Personal income tax

AL
B)1, IV
©n,
D)1, IV

28. T AR - BEE R QL PN AR P A ¥ h 2 A ? Which of the
following options presents the correct ranking of transportation modes from most
expensive to least expensive?

(A) +32& ~ &7 ~ 45 ~ -R3E Truck, Air, Rail, Water

(B) #rz ~F &~ -kiF s 4 Air, Truck, Water, Rail

(C) #ruz ~ kg~ + 3 45§ Air, Water, Truck, Rail

(D) #wz ~+ 3 ~ 48§ ~ -K3E A Truck, Rail, Water

29. T |vR— 78 §_f ¥ ek % {7 5 ? Which of the following is an environmental
protection behavior of a business?

(A) %4 ~ 74 pF~ 44 Labor-saving, Time-saving, Cost-saving

(B) %4 -~ > - i E Low price, Convenience, Simplicity

(C) M+ ~p &k ~2*F Lowprice, Natural, Without machinery

(D) ™% ~ 4 icik ~ £ #% Low pollution, Energy-saving, Recycling

30. TG B¢ LT R o P —g 1 7&? Which of the following statements about
the functions of a central bank is correct?

I. 1% % 42{7 774217 As a bank for other banks

Il #% 2 & 353 Accepting corporate deposits

. 3 7 & % Issuing currency

IV. & &'z % Securities underwrite

A L

8) 1,1
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(C) 11,1V
(D) I, IV

LRI & H#(CIF) » T 5wig 5 * &4 ¥ 3 -KJE? According to the cost,
insurance, and freight (CIF) price, which of the following expenses is borne by the
buyer?

(A) v & Import duty

(B) v & Export duty

(C) #&*& % Insurance premium

(D) =3 % Ocean freight

R.F AT P FAAPRRDE P T AT VAL E? In what type of a
warehouse can a merchant store goods that have not yet paid customs duties?

(A) ## 7 # E Wholesaler’s warehouse

(B) % &7 £ & Retailer’s warehouse

(C) =% g & Public warehouse

(D) %4¢ 4 & Bonded warehouse

33 £ ¥4 &% 3 ¢ 4£7 7ie 52 Which of the following is not included in the
business life cycle?

(A) + ¥ consideration stage

(B) £z #p start-up stage

(C) = & # growth stage

(D) = 3 maturity stage

34. T s wmag F_f ¥ ALY A A#? What is the foundation of sustainable
business operatlons’>

(A) sxis ~ %5 ~ &7 Politics, Education, Economy

(B) %&& ~ A€ ~ X5 Environment, Society, Economy

(C) sxis ~ 7 % ~ 132 Politics, Religion, Ethics

(D) % 7% ~ /s ~ & & Education, Governance, Mission

35. TRt g ME M SR RS SN ahdd £ g2 eh? Which of the following
statements regarding multilevel direct selling are correct?
. 24 f L d#4%e 4% Directselling companies pay salaries to
distributors
. 24 =@ g U 45 Direct selling companies motivate
8
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distributors through rewards
. 24 v p e 232 95T & Distributors can recruit and train their
downlines
IV. Z4lf oz r @k p 7 sy Distributors' income solely comes from the
performance of their downline

(A) 1,11

B) 1,1V
© 11, 1l
(D) I, IV

36. T 7w —"Ff F 1 iF#p 3 e0* 3 ? What is the purpose of a job description?
(A) el o A 1 To motivate employees

(B) 4=2-+ B To recruit personnel

(C) ¥ @A 4 Toretain talent

(D) % B 1 <45 To safeguard employee welfare

7. FHnPE N ~ I FREDT 2 > U E T Ry S GER FE R
e o The rapid advancement of technology, widespread internet
access and intensely competitive market have driven the development of business
towards :

(A) &% ~# it Localized operations

(B) ®ix= + it Electronic business

(C) #e»F % Aidstotrade

(D) ®p 7 % Domestic trade

38. T Rt § 4 ¥ L e A F 2? Which of the following are the
fundamental responsibilities of a company towards its shareholders?

l. L JEF R F w 4% Shareholders receiving investment returns

. &z5¥% =2 & Legally operating and managing the business

. = & ¢ 32 & ¥ Hp44% Properly managing the company's finances

V. #& &L £12 0353 Providing fair and reasonable compensation

(A) 1,11, 111

B) I, 11,1V
©) 1,11, 1V
(D) 11, 111, IV

3050k 2 AL R o f BA4- B 4R s 30000 &0 £ % s
30% ° R gRA A E D gl T A E 55~ 7 Mr Guo is the owner of a
9
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pancake shop. The monthly net sales for pancakes amount to $30,000, with a
gross profit margin of 30%. How much is the monthly cost of goods sold for Mr.
Guo?

(A) 9,000
(B) 21,000
(C) 39,000
(D) 100,000

40. oo B ¢ o] 3] ¢ ¥ i F 48%? Which of the following statements about
business trends for small and medium-sized enterprises (SMES) is incorrect?

(A) ¢ E %1 Specialization of management

(B) i=4¥ g4 i+ Marketing for Blue Ocean Strategy

(C) A & &4 it Product branding

(D) i*% 4 1 i+ Manual, labor-intensive operations

A1, T AR g M € oot E 45 35a9? Which of the following statements about
the chamber of commerce is incorrect?

(A) st R Fa 7 £ B Promoting national industrial and commercial
development

(B) % &% % 0§ § ##r The marketplace for buying and selling goods

(C) #& &1 7 #3x39 Providing business consultation services

(D) #7%#7 & Organizing trade fairs

42. 27 ABC § 3 endt LA FTw X AFEG R L LEEOT & R TG RE?
What could be the possible reasons for the bank to reject the posting of the cheque
drawn by ABC Company?

I. &£ & X 3|# The cheque has not reached its maturity date

Il. Jcic A enZ& 3 72 & /2 The name of the payee is incorrect

1. 23 3 B icdn 4 ¥ 2 #5045 The identification number of the payee is not

prowded

V. 27 # "5 "g4F & A "enF P The words "or bearer” have not been deleted

(A) 1,11

B) I, IV
©) 11,1
(D) I, IV

A3 P LA GRS PR ¢ F (il A SR o 3R 1 R E B R T A
10
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w87 3?2 Mr. Chen purchases publicly issued shares of consumer products in the

stock market. The mentioned stock market belongs to what type of market?
(A) %7 3 Money market
(B) =t.&# ¥ Secondary market
(C) 4=2% 3 Primary market
(D) % = ¥ New issue market

44, 3 A3 LB BRELF PP I F- > A %—, P APAR IR o S IER o éﬁ‘?;“ e iE F
7 H A R? Mr. Wang tried to purchase life insurance for his best friend, but the
insurance company rejected his application. What principle did he violate?

(A) p&% & R principle of indemnity

(B) T %1 R principle of proximate cause

(C) = ® Z 3R A principle of utmost good faith

(D) ¥ 42 z & B principle of insurable interest

45. T 7P H 5 B H % IR ih B 997 What is the purpose of market segmentation?
(A) == p & ¥ ¥ Targeting specific consumer segments

(B) ~ 473 ﬁ A # Analyzing the number of competitors

(C) ® 4 A& &«fsg Differentiating product types

(D) 2% = 54 Establishing a brand

46. 5L 4 A48 520 2022 £ 1 7 3 12 7 > &% & RM3500 0 & Ffdofiif
RM1,400 - *4 7 i £ j* & % RM9,000 » = £ $ 7 %G -3 RM5,500 “ » @2
FHBBARIBRL - FRRAL 2022 & h i r £.% 52 Mr. Zhang is
unmarried and has a monthly salary of RM3,500 from January to December 2022.
His annual tax deduction is RM1,400. Mr. Zhang has no other personal tax
deductions except for a personal exemption of RM9,000, EPF (Employee
Provident Fund) contributions, and life insurance premiums of RM5,500. How
much is Mr. Zhang's chargeable income for the year 20227

(A) 42,000

(B) 33,000

(C) 27,500

(D) 26,100

4

=

»

47. &+ B = 5% TR DA T BATA S 4 AT ATELRY che LY S Bt s

W R EEA A EY T RMALS RE ®? In addition to using
traditional media to promote their new product, Zhengguang Company also
leverages the characteristics of new media, such as networked, digital, interactive,

11
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and sharing features. Which of the following mass communication service is
based on these characteristics for promotion?
. A#¥% 2 Radio
Il. =722 Short Message Service
. ALF 448 Social media
IV. 7 4R Television

(A) 1,11

B) 11, 1l
©) I, IV
D) 1,1V

48. 7 73 M H =G e enid oo = H 5 %2 Which of the following statements about
the characteristics of unit trusts is incorrect?

I i low liquidity

Il #F 4 = low investment amount

ll. % * % high cost
E4
4

V. 7~ it F diversified investment
(A) 1,1l

(B) 1,11

(C) 1,1V

(D) I, IV

49. T 7@ Tg 7 A E % % #rens i ? Which of the following is not a function of a
stock exchange?

(A) magr £ onid Facilitating stock trading

(B) # i 2 @3 & Issuing company stocks

(C) # &% # {71+ Providing stock market information

(D) IR F i #& 7z Protecting investors' rights and interests

50. 7 % RM20 ch4 &> 2§ = RM19.9> iz 30T 71 v f& <% K v ? A product with
an actual price of RM20 is priced at RM19.9. What type of pricing strategy is
this?

(A) ™% # low pricing strategy

(B) % % # high pricing strategy

(C) w4 =z % Promotional pricing strategy

(D) ~ ==z #§ Psychological pricing strategy

12
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